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JANI—F  |@dd—F| &% | FHR | BFAA-2HMX A8/ 548 JANT—F  |@dd—F| &% | FAR | BFAA-2HMX NFE/ 5148
4954458320264 | 133200 | #200 |20PH| 1/41>F | —/10 4954458320370 133201 | #201 |20SH| 1/41>F | —/10
4954458320271 133202 | #202 | 30PH| 3/81>F | —/10 4954458320387 | 133203 | #203 | 30SH| 3/81>F | —/10
4954458321650 | 133289 | #289 |40PH| 1/21>F | —/10 4954458321667 | 133294 | #294 |40SH| 1/21>F | —/10
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4954458320301 133208 | #208 |20PM| Rc1/4 —10 4954458320417 | 133209 | #209 |20SM| Rc1/4 AL
4954458320318 | 133210 | #210 |30PM| Rc3/8 =10 4954458320424 | 133211 | #211 |30SM| Rc3/8 =10
4954458320615 133290 | #290 |40PM| Rc1/2 =10 4954458320639 | 133292 | #292 |40SM|  Rc1/2 =10
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4954458320332 | 133214 | #214 | 20PF R1/4 —/10 4954458320448 | 133215 | #215 | 20SF R1/4 —/10
4954458320349 | 133216 | #216 | 30PF R3/8 —/10 4954458320455 | 133217 | #217 | 30SF R3/8 —/10
4954458320622 | 133291 | #291 | 40PF R1/2 —/10 4954458320646 | 133293 | #293 | 40SF R1/2 —/10

FRIMOMITA<FETRI> (PFFEY)

T
@RS EAES:1.5MPa(15kegf/cm?)
@fitE£/7:2.0MPa(20kgf/cm?2)

Z R IMOMIFA<FETRI> (SFFEY)

fre
O =S EMAE:1.5MPa(15kef/cm?)
@fiiE+1:2.0MPa(20kgf/cm?)

1= . p— 7=
[ Jiiitvg g il [ Jiiibvg

JANO—F Eamd—r | &% | AR |EFARGAOTR| AFE/ S 5E JANO—R Eamd—R | &% | AR |BFARGOTR| AFE/ S 5E
4954458321223 | 133206 | #206 |20PFF G1/4 —/10 4954458321308 | 133207 | #207 | 20SFF G1/4 —/10




